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Algebra IT
4.8 Quadratic Formula

Obj: To solve a quadratic equation by using the
quadratic formula.

Review: Simplify each square root.
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Quadratic Formula

Given: ax2+bx+c=0

—-b+ \/bz —4ac
2a

O = coelficient of X2
b = (oefiCient of K

C = GonStant

X =
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Solve each using the
quadratic formula. X =
(no decimals) 20
A B C
d=1 x°—6x-T=0
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Solve each using the - b+ \/m

quadratic formula. 5 =
(no decimals) 2a

Tur +he equatien n w 2% +x=5
Stondavd Form | |
Ix2+x = 579

x= LE[12 _4@(-5)
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Solve each using the
quadratic formula.
(no decimals)

12x-5=2x*+13
15 =l
O=cthe® 29X +19

X:

e —b++b* —4ac

2a

B T),
X = 12 Z]14y-1ud
é_ll
X=1d (2
7 72 )
N
Solve each using the T
quadratic formula. ¥ = ~bx~b” —4ac
(no decimals) 24
-2x* = -2x+3

A2+ AX - D=0

i = ﬁgim_
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Solve each using the —b+b* —4ac

quadratic formula. X =
2a

9x* +6x—4=0

y = ~o 2172 - H)

/8 h

X= ~wtlZe ity . LtJigo - J5kS Jse's
(% /

8 18

Decimal
= M Answer?
: Day 2
Solve each using the
quadratic formula. Put —b++b* —4dac
the equation in standard H =
form first. ax2+bx+c=0 2a
2x*—=9=0
x = 0T J0-4a)X=D
L
+
- 272 zp{2 (£30E
L y =
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Solve each using the Day 2

quadratic formula. Put _ —b+~b* —4ac
the equation in standard = By
form first. ax?+bx+c=0

' +14

L—lc- —Zx‘.‘—']
= B @24 9 ,

%2 +8xtld =0

x=8(8

. Day 2
Solve each using the
quadratic formula. Put _ =b++b* ~4ac

the equation in standard 2a
form first. ax2+bx+c=0

(2-/%17(“\\7) 2
x+1)(x—7)=
St 2+ (22 dind
Sl rx -7 2 yx= L3 I3 H()4)
Sy By = =0
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Day 2

Solve each using the -
quadratic formula. Put - -bxt+b" ~4ac

the equation in standard 2a
form first. ax2+bx+c=0

(x=3) =4x4+2
Y 3lx + 7= Hx 12

f& = fox#1=9

(= 10 2B-400Y | PR
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Day 2
One leg of a right s ~b~b* ~4dac
triangle is 5 feet longer 2a
than the other leg. The .
hypotenuse is 20 feet. A+ bRFEC S
Find the lengths of the " A 2
legs. L (,X*SD = X0

><91+ x%f’/Ox% 45 = Yoo

A= gt = le=0

y = ~[o T \)/w -%&('57‘53__ -/of—fﬁﬁb
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Day 2

One side of a rectangle
is 2 less than 3 times
the other. If the area
is B0 square inches, find

‘e —b++/b* —4dac

2a

the dimensions. X _ 02 + , %"4(2)( '5’D>
$ ) e low 2
- 220y
%
~
7 g=2br

J 50 = x (3x -2

0= S5 =%
0= 3x%~ &x 50
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